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Selection for the post of Tower Wagon Driver /OHE in level V of VII PC (Ex. Cadre Post) in 

TRD ,/ ect'ic tiepai tmiL chennal Division Datc iwt :o :xaiillnauon : 26.03.19 

liuration: 03;00 Hrs 

N 0 TJ 

1. 	Candidate should write their name, designation, office, roll number/staff number etc., ONLY 
in the space provided in the fly leaf and not in any of the page in the answer books or 
additional sheets. 

ir 	
2. Any names/roll numbers is found in the answer books or additional sheet such papers will 

be disqualified. 

In the answers to the objective type questions, no corrections of any type is permitted. In 
case any correction is made, that answer shall not be evaluated at all for e.g corrections 
made in the objective type quetions like (a) cutting (b) over writing (c) erasing aud (d) 
scoring off a ticked answer in multiple choice and ticking another answer and modifying the 
answer in any way will not be evaluated at all. 
Read the question paper carefully, before answering them 

Drawings must be neat and brief. 

Part 'A' consis.s of objective type questions. The suitable correct answers only to be 	written 
in the answer booklet. 

Part 'B' consists of descriptive type questions, where it should be brief and uo the point. 

PART A 

I. CHOOSE THE BEST ANSWER 	 10 x 1 = 10 

The specific gravity of a good fully charged lead acid battery is-

a. 
s

a. 1170 	b.1210 	c.1180 	d.1100 

The maximum permissible speed of 8 wheeler tower wagon is 
a. 110 kmph 	b. 80 krncjh 	c.60 kmph 	d.75kmh 

Specific gravity is measured by 

a. Anemometer b.Ammeter 	c.Hydrometer d. Multimeter 

The voltage from a battery is 

a. AC voltage 	b. DC Voltage 	c. Both AC and DC 	d. None of the above 

Tower wagon driver competency certificate is 

a. TR1 	b.TR2 	3.TR3 	4.TR4 

The OHE Traction Voltage is 



a. 2kV 	In 11kV 	c.440V 	 d.33kV 

Current in a cirruit 	,.acu.d by 

a. Anernomee b. Ammeter c. Hydrometer d. Multimcter 

The unit of resistance is 

a. amps 	b. volts 	 c. watts 	d. ohms 

Hindi day is celebrated on 

a. 14th September 	b. 14th October 	c. 14th November 	d.14th December 

The fuel used in the tower, wagons engine is 

a. Petrol 	b. Electricity 	c. Diesel oil 	d. Furnace oil 

II. MATCH THE FOLLOWING 
	

5 x 2 = 10 

IR 

1. Voltage a. Ohms 

2. Currert b. Powerbiock 

3. ETR-3 c. amps 

4. Power d. Voltmeter 

5. Resistance e. Wattmeter 

III EXPAND THE FOLLOWING 	 5 x 2 = 10 

1. DETC 	2. ACTM 	3.DHTC 	4. OHE 	S. PSI 

!V 	SAY TRUE OR FALSE 	 5 x 2 = 10 

Energy meter is used for measuring electric31 energy consumption in an electrical rircuit. 

Voltmeter is used for measuring current in an electrical circuit. 

Tirfar and pull lifts are loading appliances used in OHE. 

The maximum permissible speed of 4W tower wagon is 60 to 75 KMPH 

Tower Wagon is powered by 25kV traction supply. 



V 	FILLIN THE BLANKS 	 5x2=10 

There are ---- cabs in j trer car. 

The permissible speed of 8 wheeler tower wagon is ----- 

A9 and SA9 Valves are sed for - 

BP pressure maintained in tower wagon is ----- kg/cm2  

Engine cranking starter battery used in tower wagons is ---- volts. 

PART B 

Ib 

I. Short answer Questions. 	Answer any five questions 	 5 x 4 = 20 

Exolain the types of blocks? 

Write the names of lubricating oils used in different types of tower wagons? 

Write the different types of braking systems available in Rolling stock and Tower wagons? 

Write down the different type of schedules for Diesel engine fitted ina tower car? 

Write the names of 3 protective/safety equipmentc used in Tower wagons? 

Write the capacities of batteries used for starting the engine and that used for lighting of 8W 

tower car? 
Write the names of different makes of transmission systems used in 4W tower wagons? 

II. Essay type Questions. Answer Any Three 	 3 x 10 = 30 

Explain in hrief working of a Diesel engine with simple diagram indicating the different strokes. 

Explain first aid and treatment for electric shock. 

Explain safety rules for OHE works. 

Write a letter to a Station Master requesting him to permit the movement of tower car from 

starter to LSS and back(Do not write your name in the from addrecs, smp1y mention Tower 

wagon driver on duty). 
Write about OLIC indicating the region of Tamilnadu and the various iflcentive schemes under 

OLIC. 
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6P 
KEY ANSWERS for TW Driver selection held on 26.03.19 

PART A 

CHOOSE THE BEST ANSWER 

	

1. 	b 2. a. 	3. c. 4. b 5.4 6.a 7. b 8. d 9. a 10. c 

MATCH THE FOLLOWING 

1. D 2.0 3.b 4.E 5.A 

III EXPAND THE FOLLOWING 

	

1. 	Diesel Electric tower car 2. Alternating current traction manual 
3.Diesel Hydraulic tower car. 4. Over head equipment 5. Power supply installations. 

IV SAY TRUE OR FALSE 

1. T 	2.F 	3.T4.T 	5. F 

V FILLIN THE BLANKS 

 2 

 llOkmph 

 Braking 

 5 kg/cm2 

S. 24v 

I. Short answer Questions. 

PART B 

Power block, non power block, line block, traffic block.... 

Servo Torque 10, Servo 15W40, servo gear HP90, Servo Gear HP 140, SAE 30, SAE 10, Servo-68 

Hydraulic, pneumatic, mechanical and vacuum brakes 

/7, L1 7 3 

rr) 



S.R. 

A-trip, B-300 hrs, C-1000 hrs, D-3000hrs or B-6 m, C-i yr and D-3YrS 

Drain valve, ii valve, OLP, Cutoff valve etc. 
24V 290 AH for starting or cranking, ilOV 120AH battery for lighting. 
Kirloskar KTC100.20, Hindustan Motors VENTRA, VOITH, ALLISON CRT. 

Iii. 	ESSAY TYPE QUESTIONS. ANSWER ANY THREE. 

Diesel engine air is compressed in the cylinder to a very high pressure- ignite fuel-

injected through fuel injector- four stroke - suction, compression, power and exhau t 

stroke- neat picture. 
Refer first aid treatment. 

Refer ACTM. 
Refer G&SR 
Refer hindi pocket book. 	

LA 



L-6uq Gaj&& 6.0LL(36bT(!5&ar)rr6i5T Gz5qq OHE 
A— 	 -*~- C=41- 	 1. 
14-1-1 	'1) 	14, lkq%~: 	 311 'Q 14 Z? 

Selection for the post of Tower wagon driver / OHE 

Gff 

	

)~@. fk;:T Date: 13.10.2020 	 65MILb- FTW Duration: 120 minutes 

Ga 	-t"Nu6ijq&(%6&fr6oT ojpUa) ,1 qq 6 

-YxwfF4* 4i fc~v 

instructions to the candidates 

1, G& 	 -$fl~.156T QUUJO, UZba, MW6)JG0&Lh, 	 66M 	 6T6hT 

	

)qq 6T(T.NUQlq&6T 	 ULL4UJG*U 6T 	TMPUJ~ 
_&b LDL(3Lb 6TU') 

G"6ft&b. LA ))~,ajnftb wdjg) &L-r&ja5GMG6otT, a&(3,ajGb Lj0GbujrT0(:GufT woptb age@ 

uL()(&jLb u6b&6?@G6urr GLD(bg500LJ1LLL— a6aj aurjrl&j&6u)6TruALb 6T(Loaj65a&L-n-N. 

YXMff 59TIT FM, W~~, -hl,?41 (1,4 tcT ;t] -hA T~ I tl #9;11T iq;t 4i~ W-Tr~ A'~ 4 f~v 7r;~ TITW qT jft f~4t, 5# 

3-rq q-ir # f~K~ HFa mi;T, 3ff~~ ~ft-(f ;PT wcw 474 w~~ t f~4v 3TcTv ZRW aw P~ I ~i 'RT iiTft f~t 
Candidates should write their Name, Designation, Office, Roll Number/ Staff Number etc., only in the space provided in 

the fly leaf and not in any other place in the answer booklet or additional sheets including the space provided for rough 
work. 

Z- 	~.W~M06IL71L'-L- bj-JILII)I~Rb~ll 6)k-aonUL.~ U$@b'U0I1b1-111;U 910~~tiOILJIM &L-~)60)0 Obzlw 

Looff) &A~&Gft) m6mLluLIL-ni) 	uodb~brrdr w~@6LJ1L-L1IuL- wfTLLL-ff2J. GLD&Lb 04$6) 

(1%qq 6TQP~W-J! n5uq G~i~qifi(ffj "~@Mjb!D"q 6T6bT &(!5,~bEJUTQlq. 

z1ft tk;* 3RT 4ftZI-151 4 FW / #(T i-,t. tV U7 TMrT AF Yrdft-FJ f~r~ Y,~:q Fzilwi qT f~4-w qmT ~?r 37~T 3aT .2 
,fta-hi igr 5i~ ;aift zft amjfl 3ft 3Ta:zr& zft -vzftvw Tff;:rr 7m7ffi ~3 
if any answer book is found with Name(s)/Roll Number(s) other than in the space provided, the answer book will not be 
evaivatea and tne canamate win ne aisquannea. 

U~@G~)U )I'MM60 	 U~966 S4GYfA@Lh GUIT& 6T(TOUJ 1-10016b 6T$,6JGD,6 

I-DrIFOO)GILDIT, ALD,,6~~hGWIT, 0(!5,6,-ffjGGurr LD09Lb vP,~$,ajCwrr 	 --m6i6wrU 

&50016iff 	@_0L1lLJ1LLL- UoGb&dT 1-113~9001-61LIL LDrrLL-rrgd. 

V~t OR 3aT f~K* 3TF VEW W #~fttW A# PP; (i) 21517 Z15T f~N-il (i) fc~Nqsi 3UZ,5 3,qT fc~4A-il 

CZ— --t 	ZF(01 I (i) VZF ZFI;~ 1) Idic-1011 	QTqIP"I ILP111 VZF LT11 ICIP "'P 14)1( .3" MUIM 11-P,01 ~i ~4 1 q Ir (-4 In I I U 1P 

f~r* 3-rR Ei4r f~Ft 3ft ww # utm-,-~ ift 3m~ rTft ti $w qzFq AF 3-dT qT 3izF w(~UF ;-,Tft f~W 7rTFffi 
In the answers to the objective type questions, no correction of any type like (i). cutting, (ii).overwriting, (iii). erasing, 

(iv). scoring off a ticked answer in multiple choice and ticking another answer and (v). modifying the answer in any way is 

permitted. Such answers will not be evaluated at all. 

Gadr6BAOrr6ft) P-6Ww G&drGffl&@fld) 6i-srr6)j_N loo G&6iTGD&(%&(& 	* @Lb n 
jrr6AGb u_QcoGWlAb& Go6&T(?Lb, loo#3(a voanm u0Gu6ffl,#0 	rrGb u0Gb,65fT6fflGb 

P~-drw (Lp,. s6i) loo uodba)6W LDLL(3Lb LD06LJ1L-t]u&b. 

3fa:mff i# t1T(;r 100 v~t AF 3ffT k~r fi zTft 100 # 3&r~F "t 2K 3aT tv arft t ~r tzr(7 ~Rm 100 

~PT;# Zft 5fl-ff ift avat I 

Candidate should answer only 100 questions. If more than 100 questions are answered, only the first 100 questions will 

hP Pv;;hi;;tPH 

6,~diQ"rr(!5 ajejfDrrm u_ft&@Lb 1/3 LD06QLj6*ff (~b66)ff)&&Lhj(3Lb. 

TF(~~ 3-FT AF f~4V ~:W ~F 3F4;;f 1/3 3W Off 
JF T- t Pl V T-41 K KA There will be negative marking @ 1/3 mark for a wrong answer 	 Trt~Pl T'( I K. KARTAIGAI SELVAN 

Dj,~isional Electrical Engineer / Rolling Stock 
r,~f4' ~~, ~4A-600 042. 

Southern Railway, Velachery, Chennai-600 042. 



L6166T %ogm6mo @uj$p ^O_mGurr& Lorr_tpugi ........ 

.......................... ~~ ~~ zl~ -;~ T;t # 	t I 

. ....................... is converting electrical energy into mechanical energy. 

a) Transformer 	b) Alternator 	c) Motor 	d) IC Engine 

%rrTui 94LMGU 1N6k&WA_41Gb (Lead acid battery) 6TQ)&LGrflY6lDGULL 96~68GGUdN41.0 a4fffq 

~4~ vf#~~ " # *Aq;as W TaT 3MZT erffT ~Q~l 

I n a Lead acid battery, the e~eMolyte I evel must be 
a) 5 CM below the top of plates 	 b) lomm below the top of the plates 

c) Between 10 tol5mm above top plates 	d) Exactly at the level of top of the plates 

&)66TL-,#)t 66TG~O 2 S46ffGD@Lb MW(6j (unit) .............. 

zf'7 Tn~ er~- ti 

The unit of Inductance is ................. 

a) Henry 	b)volts 	 c) Ampere 	d) none of theses 
P 

02266TGI~C L-q E.M.F 66T MMq a (parameter) ................... 

# E.M.F aFr IuAci eraT ti 

The parameter of E.M.F of a generator is ................. 

a) Number of conductors 	b) Flux per pole 	c) Number of poles 	d) All of these 

Laa-Gb 6T6&j@6tMGb 6TOQurT(!5dT uft a)Gu&a6Ou@Lb U65)_m 

gra~~ W # 	ii~~ ftw q "m (I f~ a 
Fuel is ignited in diesel engine by 

a) Spark plug 	b) External electrical supply 	c) Battery 	d) Heat of compressed air 

f~e,_jcj 3-31T f-FH# Tl~ aTct tl 

Electrical energy is measuring with 

a) Kilo Watt hour meter 	b) Multi meter 	c) Kw meter 	d) Ammeter 

7, Ldl&&I`T~ &&&MUJ (Electrical power) 9461Tji& LJUJ6*LI@O.N 
ga--x- C!- IqC,,4(1 ~jf.-M- ZF-1 	'ICD<41 zi—lo, t i 

Electrical power is measuring with 

a) Kilo Watt hour meter 	b) Multi meter 	c) Watt meter 	d) Ammeter it 

Lqijrr-~>~6iff Larl-Gfu466T &(ff)&&6WGa (~p-sCju(5Raa(!5$.N _a0wL-6)jrrGff,4~@66T pff)(36u(5~@ 

6)i6mijaGurrm &6o)L-LDLLi VULb (Horizontal distance) 6TdTU2d ............... 

qT;j zF ;cRT,-ff FT~z ZF wR 4:r ~~ zF Ftq Faw i~RT uFaa 0 uc4r 61 
Horizontal distance from the nearest face of traction mast to the center of the track is .............. 

a) Versine 	b) implantation 	c) Suspension distance 	d) Encumbrance 

Lal~ Geiao-N& uuj66Turr@&dT 

uzR 4vT~,r zFr 2~~: wq)jT eraT t ------------- 

Tower wagon is mainly used for .......................... 

a) Inspection of OHE 	b) transporting essential item c) moving TRID staff for it 	d) All' of these 

1̀1' K. KA R T IHI I G I S E LVA N 
Divi 

' 
sional Electrical Engineerj Rolling Stock 
'~4, ~ 	-~~ -600 042. 

Southern RaiMa~,, Ve;acher)~ Chenral-600 042. 
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ME 
L&6&&L.-,6_QUJIG70 (conductor) 6TGOd)LLU96-6T-%6ffl6-& VLLIL-!~60.§ @6ij6IJFTXR MO)[P&&G_MFrLh 

I Ph --N- 	4-; -I#ILI -1-1 TIQ—. 7.7-11 Q 

Moving of Electrons in a conductor is known as 

a) lonisation 	b) Potential 	c) Recombination 	d) current 

L&6&ILDllTffi_OadT 	 ( Rating) g? (50CIU& 

f4m* i~~ qw 0,4miAz *t tQw P+-Mci *r 5i~ ti 

Trans-form.cr  Rating ~:; dc.-.=ICd ty 

a) KW 	b) KV 	c) KVA 	d) KVAR 

L- (Regulated) OHE 66T QL-6&4F6& %GaLb (Tension length) 6T6iJ6)J6r6-4? 

1-1 Ot!5 OHE Eft tU~T ;4W ert tj 

Tension length of Regulated OHE is 

a) 1500 Meter 	b) 2000 Meter 	 c) 1750 Meter 	 d) 1900 Meter 

113. @uj$Rrj %Og)6u)w L&6tT %!h_mGurr& Larritlgeigi ........................ 

....................... Wff~~ 3~-A z~t f4~ 3~-A # qf~,flj WTaT tj 

....................... is converting Mechanical energy into Electrical energy 

	

a) Generator 	b) Battery 	c) Motor 	d) All the above 

14 . ........... .... 1&)6&6& QJFTdOq&60)6n U(3ft2j 

................ ~~ wF-a 2~t zri-; zR~ t i 

................ is closing the engine valves 

a) Cylinder 	b) Spring 	c) Cam shaft 	d) Housing 

15~ 	%GbL-q(:6oTC L-~& ---iUb@ 6mej6dw4i~j @-L-6& 966)6w&& (:61l6dw4ujgd ........... 

	

4 1 -PI 0 1 	C4 -31 A I 

	

3WL.N-]k-x 1111 IIII%:Iz) 	1111 ull.;~I Z-1161 Vi 

The field winding for the alternator should be connected with 

a) Pulsating AC supply 	b) Pulsating DC supply 	c) DC supply 	d) any one of above 

16. qq5 066T&~JOdT L&6&66TgA~b G"XaurrLLm)L- (Potential difference) aI6nGDL- UUJ6&U(36-1101 

qfklm # ft~qoicii zl~r f4;,44) Twzrm # j:rm 5rTm ti 

Potential difference of a circuit is measured with the help of 

a) KW meter 	b) Ammeter 	c) Kwh meter 	d) Volt meter 

17, Owaido &Urre'Glr~j (level crossing) 6T&ILlad. 

~r-~ shlf~fdj M-jTqM zFT _jjv~ tj 

Level Crossing means 

a) intersection of a Road with Rails of at same level 

c) Both (a) and (b) 

b) intersection of a Road with Rails of at different level 

d) None of the above 

18. arrTui &Lfto &6h-%GU~~@& (lead acid battery) GiWuMLJI#3 MiryraLL0,1(specific gravity) T, MGIT6DL-

UUJ6&U@6IlSj 

	

............... 3qzFM EFT WZAW Ag-QFk5 4t k f~r~ UT;6~ 	 k ~q~ eF(9T ti 

...... equipment is used to measure specific gravity in lead acid battery is 

a) Oxy meter 	b) Pulse meter 	c) Hydrometer 	 d) Cell tester 	
I K . . KARTH61 SELVAN qTFA 	I / 

Division,31i Electrica =Engineer / Roiling Stock 

-e-m'l -tE;O, 	, 
~4A-600 042. 

Southern Railway, 14elachery, Chennai-600 042. 



6,0(5 0,airrL-~ L&&atjb,0db (series circuit)P—dT6T[ ftU 86M60 (elements) L&6&G6-oTrTLLL-Lb 6T0QurrUgjLh 

4aft qf)7m AF w-(# # qm zFr Frwr Ftzr emT i 

Current through the elements in a series circuit will be always 

a) Zero 	b) Constant 	c) Differ 	d- None of the above 

&rTTUJ a4LGIW L61dT-5GU,466),§ (lead acid battery) L61&G6w0_MLb Q&LLjuj (charging) ............ 6066)Gff C,&j6U)QJ. 

~Tt 3frq ~~-Vf#g #a E14t ~qil iFTW Wo t . ................. #rff ERr 3ffa-~ZWT erj~r I 

if you want charging a lead acid battery . .................. supply is required 

a) DC 	b) AC 	 c) Either AC or DC 	d) Neither AC or DC 

21 in rTrrjkc)nck ;ypnem i Mck Qcma)ij yijAtcYLAfj& Aaw (.0ii i o 6TcYT xffrn h 

.......................... 

Traction substations are located at a distance of ............................ 

a) 35 to 50 KM 	b) 60 KM 	c) 30 KM 	 d) Any distance 

LN68T&rrU 	 (electric shock) %mrrauu~aS6@ ......... ........... Lb 9(!b 84,0(9 

10,ji(41 Ch *icct) Ch moull di X4 41cr) 15 .......... 

......... is one of the symptom of an electric shock 

a) Cough 	b) Loss of consciousness 	c) Sneezing 	d) Fever 

UQJq--.GU65L-66)lj (powerfactor) ft,4$ 6B&,-ffjiTj%ld0 Ql66)qUJ,9&&GUrTLb 

2K H~TCI~ zl~r qW tZR-q AF T97 # qftRfkff f~W a7U t I 

Power factor can be defined as the ratio of 

a) True power and Apparent power 	b) Apparent power and True power 

c) Half power and Full power 	 d) Electrical power and Mechanical power 

4gfl-A)W66T gjaum LN& @ma)uj~~066 Gurn bu@tb 6j)(ff)f~A60)60T-&)&CJULLL (Combined) Uq,5~0& 

wooq 

tc 	d-i 	 ~i4 ctl4ul 	 X4~4q;6 MIC1411 	61 

Combined resistance of the earthing system at Traction substation is ....................... 

a) 0.5 Ohm 	b) 2.0 Ohms 	c) 10 Ohms 	d) 1.0 Ohm 

25~ L&66T5W66T-ffidT (Batteries) Uuj6&Ur1@&6ffl6& Q5ff&&Lb-- 

ter zfiT 3-i~~zr k 	

4 
The purpose of Batteries is ................... 

a) for converting Mechanical energy into Electrical energy b) for converting Chemical energy in to Mechanical energy 

c) converting Heat energy into electrical energy 	 d) for Generating E.M.F by chemical action 

9(:p Q&rr@#,&0uLLL-6mG)j&vfl6b q?dTV ic 966Ta66T fikbmw 

f~r~ # # zO~ vw 3fr~.* oc) ~~ ;-,fft t i 

The one among the following, which is not a IC engine 

a. Diesel engine 	b. Steam engine 	c. Petrol engine 	d. Oil engine 

6,p(!5 &ITTUJ &6&&GU~06b (lead acid battery) tD-6hw LjffMC-Lq-6-b LarbqLh ~T &LL46b -ffj5@&dT 

@6ijofDrrdo Qa-djujbLjLLL-6a)fiii 

-4g vf#3 4-5~ *r u;ir~ 3ft -:ku~ u~lt eFcft 91 	 K. RTHIGAI SELVAN 
The positive and negative plates inside a lead acid battery are ....................... 	 / -- 

Rolt 	Stock 
a) Copper and iron plates respectively 	b) Lead peroxide and spoingOepd r6soectiyeI14 

Pcer 	nrl 
-1-1-600,0,12. 

c) Steel and Aluminium plates respectively 	d) Sponge lead and Lead,jwrw'0P,,FWectiveIy- 

f 
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28. L-"~ G61.1660ftb 6.PLL&Url~ &l6n_MadO QLALGLB& 0)5004 (Deadman's handle) 

	04" 
-1-1 ^ A- 	- -.*", - 14- eo_ -.;. -.~, 
C54Qv'u-JWv-)LJu"L4UL-JuPOv' '-PP' "uJuJw ... ......... 

uzR #7r,;r ar 5rs-&T 2Kf~ # t-g A-;:T Mg zFr 3~,,-~zr ti 

The purpose of Deadman's handle in the driver cabin of the tower wagon is .................... 

a) To ensure application of brakes 	b) To ensure the alertness of tower wagon driver 
c) To ensure Releasing of brakes 	d) None of the above. 

A-9 OGU& 6wr6bado v--drw qmwa& 

4;~~ 4-1, ; - — * 
IN-41ki-41 -I'l 10%w-it p; 

Number of positions of A-9 brake valve handle is 

a) 3 	b) 5 	C) 1 	d) 4 

IC &)68T&OflG:O 	 (lubricant) @60)6U%dT 

3TIt. * (I C) ~7~ # TA~ zl~ -,w 4 wnm eraT t I 

It 	...................... are used as lubricant in IC engines 

a. Animal oils 	b. Vegetable oils 	c. Mineral oils 	d. Graphites 

L-"q G6)J&6dfi6O P-6iT6Tr fi)6&a60)6Ur ffTPft",ffjO@ G,6j6b)6)jujrr6aT 

uzR bri:r at ~W #R7 zF~ ;~F f~;lv at;ta zft ymqq!~ff e0r ti 

The requirement of Voltage for cranking the engine in tower wagon is ........... 

a) 110V DC. 	b) 110V A.C. 	c) 24V DC 	d) 24V AC 

M~p Q&rr@#)aOuLLL6u)6)j&6A;b 6Tgd 	9(_5 L&6-& @ff),9ALJ Oijbftb (short circuit) 

0) (5 6 Uff~ ........ 

fAT;T 	zFqT Rft t, VW unt Ff4z # OaT t I 

~ALI h i r k 	f t k f I I 	i 	t t n. A ~ k m~+ , i 	i+ 6 ~ ~ . 	- - . 	. T. 	.. 	- - - 	 . ................... 

a) Zero Resistance 	b) Zero inductance 	c) High resistance 	d) minimum current 

U611Y 4UIT66TdUl-11T~LW~dT 9&&GW&dff QUM6~01-ATM& JNGff6U)O &6M~5&L- V—,~bql-h .9)([56D. 

--- 47 z7am qWeJHWAi 21;T ~~w qf~mu ZFT -PW 7n7 fk;4T aTCT ti 

Insulation resistance reading of Power Transformer should be measured by use of ......... 
a) 2500 V Megger 	b) 500 V Megger 	c) 1000 V Megger 	d) Any one of these. 

V34. ACTM 6-T&ILIffil 

V.*.ftV-,T 

ACTM is a .......... 

	

a) Traction manual 	b) Establishment manual 	c) Track machine 	d) Type of Tower wagon 

9G~p Q&rr@&&]uLL6u)6)jaiG&b agi zbop? 

gt # 4:;qT w~u, ti 

Which one of the following is "False 

a) No one is permitted to work near live OHE 	b) Steel tape shall be used for measurement at OHE 
c) Ensure Earth rods are provided on the OHE before starting the work 	d) All the above 

36. u6ij~ LJ)6nrr& (Power block) ..................... @L-Lb1(ff)§igj QumOLj@ftgj. 

	

-Q 	
> 

qw z~ wc~T ft-;qT aT;Tr :a~ I 	 J1 QK gKA RT H ~IA I S E LVAN 

f4--F;~:ft tt~~ / 7Er~;T T,--T;~F 

Power block shall be obtained from .................. 	 Divisional Electrical Engineer Rolling Stock 
042. 

	

a) Sr.DEE or DEE/TRD 	b) Traction Loco controller c) Traction Power controllereMm Tr 	
I 	

er 
Southern Raikvay, Velachery, senrljj-600 042, 



37. 6,0(5 0 R)~ Q&Gba6& (dry cell) EMF ANGffq 

rv~F #-eT 3FT tv-,T.VT eFi7u tl 

The EMF of a dry cell is 

a) 1.8V 	b) 2.5 V 	c) 1.2V 	d) 2V 

L-61.11~ G6118iUM60 L-6*U VSiO 4firt,4_Qfb(5 (Lifting platform) LJUJ6k LIQ5~,Z50031.11 60)WILUITGM 

,%aGb ...... 
uER tjr-t -4 cAcwii f~4fttn 4i felv o*jffi4-h Aw w w4w erciT ti 

Hydraulic oil used for Lifting platform in the tower wagons is .............. 

a) Servo line 100 	b) Servo 68 	c) Servo system 60 	d) Servo lube 90 

9q5 wiyuj LN6&&Q)-6iQ6& P--&Cat 0oijulgam P--uj(!5Lh auffo 6TGo-i~Grjrr65)GuLL46& 

doQu6)0& &Urr6DL4 fikijorrg @(!5-#)@Lb 

a~ ~~-vf#g ter zFT aFdT~ amwn-wr 4d~Tr, t ~iAaFoim*e- iTT F451-t;~~ UT;6~ ---- .3 
The specific gravity of electrolyte is .................. when temperature is increased inside the lead acid battery 

a) Decreases 	b)lncreases 	c) Constant 	d) None of these 

40. 9(5 L&66T&W,6_Q66T ft& (battery capacity) --------- — 6T6W (ffj,@b0L-bU@&fD2d 

It zft wraT zl~r f~-kftia f2m 5rTm ti 

The battery capacity is denoted by ~ ---- — 

a) VoltAmpereHour 	b) Ampere Hour 	c) KVA 	d) KWh 

~Iw 	 4- 	~r 	 --.j .--A 	 m 	 A-, r'I a — .~r 

V44FT $A4;0Cql*C Eff iRW tl 

Name of the Electrolyte used in Lead Acid Battery is ......... 

a) Hydro choloric acid 	b) Citric Acid 	c) Sulphuric acid 	d) Nitric acid 

42. "V" 6* LDRI~IL4 6T&6-a? 

A-, 
a7,7—.IIU 	4~7,- 	 1Uv 	iuv 	1Uv 	IUv 	IUv 

a 

What is the output "V" ? 	 V 	 0. 

a. 	25V 	b. 50V 	C. 10V 	d. OV 

Q&~urTflLL6iffGTX5166T (Capacitance) 04906 (unit) ............. 6T6-dT @~,@IIll5lL-6IJ(Rft0j 

t. ...................... 

....................... is the unit of Capacitance 

	

a) Micron 	b) Mho 	c) Henry 	d) Farad 

9(ff) L616&&Q),606& (battery) _@6tDG06O)UJ (Condition) 50LJlTq&& LJUJ66TU@~,6j0U(DLb &GGD 

3qzFM EFT 74M #a *t ftWft *1' 5FM 21~ f~4V WW aTc-iT t I 

i he equipment used ior checking the Londiucin oi the battery is 

a) Ohm meter 	b) Mullti meter c) Megger 	d) High rate discharger 

qQ5 066MG0466),,!h (battery) arrqEg Q&tLju4LbGurrgd 6TGu#,Gqrr6mGoL4"QU&10~b &Uff6DL4 

@6iJ"rfg 

VrfU 2K FTW 4-er 4i *AzF0eU*C zFT ftPtSi-- 7WFcf 	tl 	 A K, KA THIGAI SELVAN 
Specific gravity of the electrolyte ..... ................ while charging the battery. 	 TF 414T / 

Fnqineer / Rolling Stock a) will not change 	b) will decrease 	c) will increase 	d) None fj~~' 	17 e, - 	, -~T;-4-600 042. 
/~--,acheryCheni-,ai-600042. 

I 

IV 
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T 

46. LM6& 6T~91)6[4 ft6M60T (resistance) 946TT6DL UUATU@~,~bEIU@lb  U)GO 
A, ;~_ Ph No-, — PI - - — — 1-1 ; 

The resistance measurement can be done by using ........ 
a) Ohm meter 	b) Volt meter 	c) Hydro meter 	d) Watt meter 

GL_q6iffMqL46iJ (Turn out) G61166)GO Cla-iLiql-b Cuffgd (,56u)_m$,&juL&Lb Ga)6m6jj0u@Lb aq~b 

rjff(R&6ffl66T 

— 	-1 , N -N-- P% -1-1 q-11.1 .11N.1 11- WIN 	............ 	-n 	31 a " —XI a a _QAP411 

Minimum ............. Earth rods are required for working at Turn out 

a) 2 	 b) 3 	C) 1 	d) 4 

48. 4UwGN6muj uuATI-Iftair, mr&j8airrrjib Ouft ffju(!5&(5 alp~mbu&h "~@ zFrrdTD9,ajP6& arrGo 

'Marq ....... 

Validity of competency certificate for the person authorised to place Trolley is ......... 
I 	

a) Till Retirement 	b) 2 Years 	c) 1 Year 	d) 3 Years 

49, LQ56b @66T&ft Q&UJ60UrrLLL0,G~) (Diesel-cycle) a:-~)a:66T 6NLLGp"6iT (suction stroke) GUrr2j 

&lqLLQG0LL QJ1T6b6D66T 0615)GO (condition).. ........ _ 

The condition of out let valve during suction stroke of the Diesel-cycle is ..... 

a) open closed condition 	 b) Closed condition 
c) Neither open or closed condition 	d) None of the above. 

50. 6,0 g ( 	 6& _p(TonDuirTa arrftb. Q-ffiijuj0uLLL_ QffGba GioQu§10& &rjrraLL4 

................. 

............... is the specific gravity of fully charged cell 

a) 1.5 	b) 1.0 	c) 1.25 	d) 1.15 

51- L15166T&GU 066066n6n 0-9 	 6U)6-a mg ,)ITL_~ (~060)fDaGb (Series)& 	a 6& Qa:dJ6)J_Q66T 8ffU6MLh 

............... 4~ f(~v 4ufr 4w # " i# zfM war t i 

a) Increase the power 	 b) increase the current rating 
c) Increase the voltage rating 	d) increase the reliability of the battery 

2- LN6kjH6ML0bLJ1d0 (electrical system) UUJ6*U@Lb, LN6k&ffULb &L_,6,&jrr,-s Qurr(j5LL&6b)6TT &-iInirrEd 

,946o)p-CTAG!DrrLb 

PN 	 P"I -A- P~ A_ - - . , 4 - 

Non conducting materials which are used in electrical system are called ............ 

a) Resisters 	b) Semi Conductors 	c) insulators 	d) Capacitors 

53, JH&W UUJW) urrm,-W& 	 MrjLb ............. 

~r13 J)-,5r # tit t #M zft 0 er~fr t 

D;_-tancc bct~_'= the 	fccr Crczd .. ................. 
a)1.600 Meter 	b) 1.626 Meter 	c) 1.676 Meter 	d) 1.000 Meter 

J,j1K ' 17 q 	KARTHIGM SELVAN 

Divisional Electrical Engineer / Rollirig stock 
'j~j ~4;~­600 042. -~T';T~ I , 	

rai-660 042. 
Southern Railway, Velachery, Che" 



54. 6,~(15 CiD4uj 666T jilb rO do (closed electrical circuit) LN&mg~ft@Lb (Voltage) LDfboLh 

LN&GwrrL LAjRflb@LDrr6-6T (Current) 6D&.%Lb ............... 
w;- FA-m54i ui)-~ 	FA93A -AftT CT= ;TZr ==T=2~17=1 

S - 

Voltage to Current ratio in a closed electrical circuit will be 

a)one 	b) constant 	c) Decreased 	d)lncreased 

55, L-6)jq aeja& fi)&gmw GA)L-rrqLL Oadjej,60(aj .......... GLDrrC-L-rr6u)U uuj66T u@ft&G_mrTCD 

-EW tww # ~7~ zft Tzt q;~ ;~; f~4v f~Fu qWR ~r Jt~ EFT wz~w eraT t I 

The typc cf rnctcruscd fc~ stz!rtin- t" cnzinc ;-T 0 	 - . . C'...' t- r 	C n 

a) Stepper motor 	b) D.C. shunt motor 	c) D.C. series motor 	d) Any one of these 

L&66T.9 ,)66)L-a66T (resistance) MQ)(§ (unit) ..... 

vPm)v zFr PT..,w ti 

The unit of resistance is 

a) Mho 	b) Farads 	 c) Ohms 	d) Volts 
F 

4 6TQ)q, Wffl~&-3 (JIVIP) L-QJ~ GiG)JI&I5460 P-16WGR 	 OM6& (battervcapacitv) 

4 5", ;T* -3 O.VWTII) zw 47w # -- u;TiTr *t 4t zFr wn)w erm t i 

............... Capacity battery is used for 4 wheeler, Mark-3 (JIVIP) tower wagon 
a)110V,18OAh 	b)110V,120Ah 	c) 24V, 180 Ah 	d)24V,12OAh 

56. t~06 W160i U1661 WadT!i)!jfibu jparanei eiecEricai circuit) 	 (resistances) (Dpa3tom v--biibii 

LI@6&6bT(_T,&%Lh (Voltage) ----------

f~e ~',I(j 	 M7ZT ftga ej~ t I 

The Voltage across the resistances in parallel electrical circuit is 

a) Constant 	b) Different 	c) Depends on the value of resistance d) always different 

59 ~-Dfll-b L-bIJI) kabIRWAM01 010$b 0ib0XrCbbIIIbU aIUkhd3bUJILU 

~W ZW #gT;T Eft VcRT -4~ t 

We can move the Tower wagon on 

a) Both 2 directions 	b) UP direction 	c) DOWN direction d) None of these 

AC 2 DC %& L0lT0P6)Jffjfb6 UUJ&U@Lb &ITUjGff~ii~96& QUIL14 6T6&60T? 

'Ac~41clt M i# f(M um at WdR~"r 4u~ 3qzFM EFT 4:zff WIM t? 

What is the name of device which converts AC to DC ? 
a) Regulator 	b) Rectifier 	c) Invertor 	d) Capacitor 

UrfGT'NLL46-11 arrqmf2 ... ---- aiskpllb Qr5&LLiq,6b &ffq6mp - - ----- GT66TULD' M6n~P&Q_MITLb 

UM-cW-zF W4 Z~r f~),tquj -- # 3ft jpffr-jfcT ~UTJ W J~~q-j — f4;~ aTiff tj 

The Positive charge is denoted as ............ and negative charge is denoted as .............. 

a) Proton and electron respectiveltv 	 b) Electron and proton respectively 
c) Proton and Neutron respectively 	 d) Electron and Neutron respectively 

L-6)J~C0166& 6,~0360T(!5&(5 611[pf~I&OU&b 	&IT66T_n5l,-ffj0 

UZrT ZFR t -5~ al~r ~t ~~ 5nir 4W ;~) cl,~4 C1 I ;MM q-ir t I 

Certificate for competency which is issued to the driver of the Tower car 

a) SF-I 	b) TR-11 	c) TR-4 	d) SF-5 ZKARTHIGAI SELVAN / K. KAW 
P-g~;:r f~r~- T-,f~ / -T~, T~ 

Divisional Electrical En - 
--T 	

gineer / Rolli-,g Stock 
-4pjT ~- -4, 	~4--4 -600 0112' 

SOUthern Railway, VL'lachcry, Chenrai 600 042. 

T 



A~@r)'00,166T (frequency) 6T6&!j)rrGb 6T6&6aT? 

What is frequency? 

a) Kilo meter per hour 	 b) No. Of cycles per hour 

c) Ampere turns 	 d) No. of cycles per second 

64. 8 0601~ 1-6111~ G056*160 6T,,%,8W6ff 4F#,WGtf GIMITILLITyadT uuAffu(R,6,5jfju(RQ6iFFg)6bT? 
G -A 	- 	&A 	'-~ 	 qT, 	-'~— W; 

	

vikq-, 	14-1-1 -1 	 N"1-1 C11%' 11 0 

How many numbers of traction motors used in 8 wheeler tower wagon? 

a) 2 	 b) 4 	 c) 8 	 d) No traction motor available 

L-61,11) GQJ&6AGi) V-676TT 6tDL-6bTGLDIT ............. (PGOLh @UA&6LJ@ft§ 

zw a7w ZFT S I z4 --i A 4i i~-am Umm aTCT t I 

Dynamo for 	v.'-'gon ;,- '&;vCn b .. .......................... 

a) V belt 	b) Gear 	c) Chain 	d) direct coupling with engine 

q 
uai~ 4ljiTdTurr~LD~G:b adjejmaujiva a&ari~ (~06U)fD uuj6&u@,#ja6u@& j 

q-W Okiw;A~ # wtwr W q7f~t qz~w ftx t? 

What is the type of cooling used in power transformer? 

a) Forced air cooling 	b) Water cooling 	c) Natural cooling 	d) Oil cooling 

~bpdl) g@.1060 (Cross over) GQ-166)GO Cladjui 66n)_M$~5uLaLb ------------- . 6T0Aljrr(3&6iT Gajisa)" 

4im 304T # qq;~ wT~r TpTzr 5~jicij-i ---- 3v~ u~ zft au-a~qqar erjWi 

Minimum ............. Earth rods are required for working at Cross over 

	

a) 2 	b) 3 	C) 1 	d) 4 

6T~,6grro)L- 06i%-Arro OHE 6~) Qurrg~&6ijgp 

0 HE # 3R~ #~T i~i# 3F-c~ t ? 

How to provide earth rod at OHE? 

a) Fix bottom clamp to the CHE mast first. 	 b) Fix top clamp to the OHE first 
c) Either (a) or (b). 	 d) None of above 

GGOL-17 49IT6016mu-I &j6WL-0ITGff,~bAlGu fa1UJ5@6jJ0-MCa5 6WQ-6~96W L0ITaUL-qlI Ibl(5.152j ......... 

1-140A06b %&LD0 QufD G066M@Lb 

4 	Tt~v FrfzT # TrA — Ar xnzm # 	qrc~r zF~ AF wari A-,-7 ~ut z~r VF qT Tm aT Rwffr ti 

Ladder Trolley shall be placed on the track after getting permission from SM through the form ............. 
a) T 1518 	b) T 1815 	c) TR 11 	d) TR 12 

ft@ui rjaGb(:6ijuJ16& &LBl&wg s4Lh&rl&jab6ffl6b (Signal aspects) W(6 ~&& I-DOULb fP1j6dN@ 

L0466t -ffL&&6M(5&6W 6TMaj @)f9&&-M0j? 

3MM14 tT FA-11-i(q NT4Zff 15 3r-jUff, , "'tW " -d IlRr ERTMT tj 

As per Signal aspects of Indian Railway, "Yellow" "Double yellow" indicates 

a) Caution, Attention respectively 	b) Attention, Caution respectively 

c) Caution, Proceed respectively 	d) Attention, Proceed respectively 

6,0Q5 LN&LBIT0_0 (Transformer) 	... ...... . V-UGU-1ff&!~0fb&ff& UUJ6-&LJ@ 6 U 

~Hl 4 
~mwAz viF 3wcT-m t 3h ~~ w4w Fkmr um~t 	 AISELVAN 

Transformer is a equipment and used for ................... 

a) Changing Voltage 	 b) Changing Frequency 	
Engineer pollinq Stock 

600042. 
c) changing Voltage and frequency Power 	d) Changing Voltage, Frequency Ad'06Wer 	Cj,.ennai-00 042. Ra;k%,ly, Velachery, 



72. 6,~Dq5 L&66T&fbf0do :.Ogdu o (!5C&)6ij06k awg6mib. 

f8i~ qf~Tm #, TzFa ;EF,7 -,5rRm <~ra w4~Tr 

In electrical circuit, fuse blown indicates ................. 

a) Over current 	b) Over voltage 	c) high resistance 	d) all of these 

7-4 	Rpmi xii iruffi)i irrox R oib)fr nwTr i snift C c)mAAch 0i irrimAxi)i W (0&m rAiRIKkah) &dff&afiK*r I- 	 I 	I 	 Go 

LDrrL_Gb 

#ZF 8 --?fW 9r.VqJft_* UdT AT~i:r, #9~ — ZFIF t3PT F_JTr ft~Tr tl 

In BEIVIL make 8 wheeler DHTC tower wagon . ............... model Cummins engine is fitted 

a) KTA-19R 	b)NTA-855R 	c) KTA-20R 	d) N-743L 

7A 	6--.)irt i Mciff 0119MI nl*0`16) M-rtri~~l 	i Mrkr oki4ftn_ nioam ffran,,nn~A I nrrM11 IM' in dff A'3r;~Ztinn~ 

aj&IL0,&6&0LJLL ajGIT 611 -( tolerance ),... _. - 

it,,IA 	 3ffqVr # ciftoo-1 ZFT CiA-~i jftm ti C_ 
In Electrical system, the tolerance for variation in frequency is ................................ 

a. ± 1% 	b) +0% or -3% 	c) ± 3% 	d. +3% or -0% 

 

~Wt 

Our OHE system is ............. 

a) 25 KV, 3 phase AC, b) 25 KV, 1 phase AC 	c) 25 KV, 1 phase DC. 	d) 110 KV, 3 phase AC 

L_6jJq GQ150fldT POH ibarreff afffivi @6nL_QGuGffl 6T6&66T? 
— I ~ . 

r_14J 801.1 ~h PUH --hl -HOM 601 C, 

What is periodicity for POH for Tower wagons ? 
a. 	3 years 	b. 6 years 	c. 1 year 	d. 8 years 

L_@J~ G6)J&6?Md0 '—')dTGU LG166T&Q),ffjj6U),5j (battery) fffTqgg Qff tLjuj . ........ 	uuj66Tu(3~,.s0u(3&f!).N 

--------- zFr w,~'w zw -bw iRr #er zi4t wd w4~r i2p; fc4v ft-4T 5TT~ t I 

............................ is used for charging the battery in Tower wagon 

a) Regulator 	b) DC-DC convertor 	c) Alternator 	d) Through another battery 

ff ,jimfluAA &Li@#,6u)(g aw)LDLAYW) (automatic section) GQJ6U)@J Q&tLjuj, 6)jWii&jabu@Lb "o 

&1TdT0,5)0 (competency Certificate) .......... #,(ffj 6- ,0(_5(~PMM L&0LM&0LJL-GGMdM@Lb 
YT&#ftzF 	 ;511# zl~ qu-ttol flIQft4ic Ebt TctzF -- FF4 2K 

.,Itzhiul W4-;iT Vftvl 

The Competency Certificate Issued for working in automatic section needs to be renewed in every ...................... 

a. 	1 year once 	 b. 6 months once 	c. 2 years once 	d. 3 years once 

&Gp Q&)rr@&si.1luLL_ @_0LL3@&dr 

PT;51~ wW EFT gfdf~l~ qqm 
61- f-ii-wina svmbois represents 

L11 I 	 U2 

~R/KKARTHIGAISELVAN 
'ps'l f47-ft T.frF1?TT / 

Divisional Pectrical Engineer / Rolling Stock 
--z;4-600 042. 

(1) DJ close (2) DJ open 	 -600 0-12. .~,.)uth,,.,.rn 
(1) Apply horn (2) Apply brake 

t 

a. (1) DJ open (2) DJ close 	 b 
c. (1) caution ahead (2) Bridge ahead 	d 



4 60GOI) L-61.11~ G056*166T al~@&JLL& &l&LD_Q&&6ULLL- (:6)J&Lb GdUbT? 

4 Ltll(l 'P i~1141L L4-lcn IPI J11~41PC141 XW101~4 0110 t~i 
~3 

What is the maximum permissible speed for 4 wheeler tower wagon ? 

a) 60 KM PH 	b) 75 KMPH 	c) 85 KIVIPH 	d) 96 KIVIPH 

'A' mrr~&&~ 	Qurr(!5,6~,ajL]iuLL@6iTGa ajrraftjr~j& &L&&6a)(g)66%j (Automatic Signal), 

GrbljA~~, 61-151&60)(5 ON Gb jD(!5&@Lb (:urTgj &L-$.N Q&GbQ) --- -- QbULb 

7-F 3ff&#ft'6F ftj I --I (q tW qT 'A' ;Fl~ ui~T Fit er zl~r ua Ar ;Fpm 3& qT qT;r WT~k AF f~4v 	f#~ 21T 

f~4v 	vftv I 

An Automatic Signal with 'A' Marker plate shall be Passed at ON during Night after waiting for ........... minutes 

a. One minute 	b. 3 minutes 	c- 2 minutes 	d. No need to wait 

8 GTGOY L-611y (:611&60~) Urr6i5TQ-ITlQF-'-fJ (Pantograph) 2 V—UJY~%,6 ----- ...... A66)LDIjj4 P--6WGRN 
v 

8 4w 2K zw #jw # tftl d) I Lo 3zT--~ AF f~4v w~~ zFr w4l-jT Air t I 
The system used for raising Pantograph in 8 wheeler tower wagon is .............. 

a) Pneumatic 	b) Manual lifting 	C) Electro Hydraulic 	d) Electro Pneumatic 

T-409 U46)JLb --------------- P--uGujrr&,6_ft)&rr& QJ~~66u(3&_Mgd 

A A 3—A T-403q7. 	71`11.1 Q11.11 Q ; 

The form T-409 is used for ............................... 

a. 	Caution order 	b. Line block 	c. Permitted to work 	d. Condemnation of materials 

84- L-Qjq CeilaildT NgLDrrLL4#) &0066 (pneumatic circuit) LJIG~& muDO& aig,6,ffjLb (pressure) 6T66T60T? 

UdT ~tJ~ OR —?LlAf~-h Ff~;Z A 4W qQ!jq # Z~K fki~ ef~ff tl N 

Whzt;s the prcssurc of 2rz!-c p~pc ~n pnc---rnzt;c &=ft of To= =Zon? 
2 	 2 	 2 a) 7.0 Kg/cm' 	b) 3.5 Kg/cM 
	

c) 5.0 Kg/CM 
	

d) 6.0 Kg/cM 

06-1.1061](151-b Lbl&IGU(T~,65Lb (outputvoltage) Q-%rr@#)a)6u@Lb LG16tT66T(Tff~,ffj,66U)jffj GDL (inputvoltage) 

)6nau L616hLDrr!b_06u)uj (transformer) ............ 6T6&9 N6U)60-!io&)WrrLb. 

zrft HBzq-E zi),ta, -sFy aill~ta # 3T~ er, ;Efr 4-6 ~j,44,,Ai wFmaT t—a 

!f 3~;'Iput ;'~Itagc 7:; grcatcr 	Ithc input vc!tagc' "hc 	 c-;!!Cd Q:; ............ 

a) Voltage transformer 	b) Current transformer 

c) instrument transformer 	d) Step up transformer 

9(5 lsrristlujr~j& &6D)LOLAM (automatic section) Cgrriiibld~ 6tuL-rr#) L516&(:arff #)a rbarj 

a1ffdLD-Q&a6bU@AQ-MAff? 

A C='~ 	-_v .414-4- 	-4N- 

Is backing of Rolling stock permitted in automatic section ? 

a. 	Yes, always permitted 	b- Not Permitted 	c. Yes, only on Emergency 	d. Yes, Only once per day 

q(!5 Arrilii;Mtun~ug JN6011.0611.26b (automatic territory) 0--6ft6W 011.611#66ROU216ill" 01TAffFj6K _Q6'06X) (normal 

aspect) 6r66T66F ? 

3 	A A P~ , A 	P~ -4- PA 	 !h I 	-A 
Ilk 	 -1 	 11-11 	 TZ7I olkil Q! 

What is the normal aspect of a signal in automatic territory? 

a. 	ON 	 b. OFF 	c. ON or OFF 	d. Blank 'F 'J i v 
t 

al Engmeer Rolling Stock 

c4-~;T--4fT, ;4A-600 042. 
Southern Railway, Velachery, Chennai-600 042. 



L-QJI~ G6)Jg)6dflG7O QUfl`6,4,5)bULL@6!TGff NTA 855R LDFTL-Gb, (§L&dTd-X) @6&66d16& ~D_M& (capacity) 

6T Gil QJ 6TT q ? 

UTT 47T;T # WZF-:Fff NTA85511*5-~-r OF zhf5~jiwii W zft wFiff PF-~ erct ti .D 
Wh;iti-zthpr;an;4ritvnf(-itmmincpnoinp NTARI;I;Rmnriplij,.PdinTnworwionni,- 

a) 1000 HP 	b) 285 HP 	c) 325 HP 	d) 1500 

BEML 6 ,jUJITOOL4 L-Qll~ G"66&& L4.N Q%616h GDC-L-Lb (diameter) 6T6~J6116TTq? 

*F zi-dT 4zR 4i Fv -oft~-r zFT ~~m f~KFw eraT t? 

What is the New wheel diameter for BEIVIL make Tower wagon? 

a) 952 mm 	b) 877 mm 	c) 915 mm 	d) 820mm 

go- aff& &6&&6*1LjjOf~j ajuiri-fturTor, 8 QJbJq L-Qlq C61166afidT 51~@&LJL& VSlJLD~@&86ULLL- 

G6)J&Lh 06-3d"6nq? 

#~T Ta-jrr #W 8 Ifi;r ucTT wg zRr afRl~ aT;i~ Trf~r erctr ti .3 
Permissible maximum speed of San Engg. make, 8 wheeler tower car is 

a) 110 KMPH 	b) 96 KMPH 	c) 100 KMPH 	d) 90 KMPH 

L-Qjl~ G0.1666T VLL(RQT~ M6O)0)aG'U I-dTGn A9 QlffG7U6Bdff uuj&Ljrr(R-......---

uER 47r~,-r t 3T$-(iT 47,sT # Ft A9 Zl~ zh7 74W f~M aTaT t I 

The functioning of A9 Valve in tower wagon driver cabin is for .......................... 

a) controlling of oil flow b) controlling of Fuel c) controlling of brake 	d) None of these 

'=~ -I 	r% 	-*. I C%fo- -* - -2. -1. - -*. . - --.- 
%'O"&O'Ujjb-*U- &90UUI 1.jLiO-U*1LOU1L-- Ui%090D bU11bUbJJ bibUlUgj blgd( L6!ig- 	 4 

uz7,i -&Tw # ~~4wgc #zF mFiEr zi4r 3#47j f-W aTaT ti 

independent brake valve in the Tower wagon is denoted by 

a) A9 valve 	b) Non Return valve 	c) SA9 valve 	d) Distributor valve 

4 aGO4 L-QJ~ G611414T 1981.13ITLOB 601&0 (pneumatic circuit) MR VQRff~,ffjLb (MRpressure) 6T6&6ff? 

	

--A- A 	Xcl- -C -3L 	 Ac~ 
Z71-q,( qdjaj CP "*IJCCP t11COC dl 4 	1(m 	 M k i~l _Q 1qX-Wj b1cli b 

What is the MR Pressure in the pneumatic circuit of 4 wheeler Tower wagon? 

a) 7.0 Kg/CM2 	b) 5.0 Kg/cm' 	c) 8.0 Kg/cm2 	d) 6.0 Kg/cM2 

94- L-Qjl~ G611666fi& MR Q&lTfiiT&GOD6)&ff6Ur (MainReservoir) Ljrrgjab[Tb14 QJIT606B& (safetyvalve) 

6)j6U)ljUJP&&bULLL- al(T~,5jLb (setting pressure) 6rdIQlfiYT6)4 ? 

c 	
-.%-- 	- -- - - -%--- -2- 'L 

Z~-jq,( lqm-d-j~j -C)'r)- -iTt-Sr4 j,(qjqj-4,( cp X14-cl 4wq ziiil '"Ir-do mil't C101 6- .3 

......... is the setting pressure of safety valve for Main Reservoir in Tower wagon. 

a) 8.5 Kg/cM2 	b) 7.5 Kg/CM2 	
c) 8.0 Kg/cM2 	d) 7.0 Kg/cM2 

9(!b L6166T &l6U)LDOLJ1dO L616& 	 LarrquiV3 (frequency variation) ±3% 6TOT 9(5CJLJ)66T N$,6j 

Lj@dT 94ON6)j6*OT00dT (frequency) &0611 ............ 

--%- 	-Cl - ------ X- 	--~' 
d-1 	111cpi ~01 clo""I 	q I a 1!~ C, j 	 cpl 4,A Cjjdjjj <41q 1QAC11 4q<410 	 !37. 

If ± 3% tolerance given for frequency variation in electrical system, the range of frequency will be ......... 

	

a) 48.5 to 51.5 Hz 	b) 47.5 to 51.0 Hz 	c) 47.0 to 53.0 Hz 	d) 48.0 to 51.0 Hz 

6,~(5 L&6&&fb&~) &6&,ffj6U)L (Resistance) (ffj6U) _M U4 Lb G u rrgi ................... jmQ& 

r4z5~ 	 Vd~:rr t, ~fr ---------- - a-OU I 

in Electrical circuit, if Resistance decreased . ......... .......... will be increased 	 THIGAI SELVAN 

a) Voltage 	b) Power 	 c) Current 	 d) All of thesci~',~ fq-:Yr~'h 
D;vj,jcjn1)i Flectrical Engineer / Ro1ing stock 

-600 042. 
Southern Raihiay, Velachery, Chennai-600 042. 
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5 QJ2j LDIT00466T GT6dffl 227, 17 611ad LDITGI~01.0,6& GfdW 239 a6dld.), 28 "_N ILDIT00466T 6T66M 

Wft 5-a TffTZ~ ZRr #9;qT 227 t 3ft 17 it TR:Z7 i# #W 239 t, t 28 ~7 Fr.F:z7 zRr T;gw zw er~. 

If 5th Mast Number is 227, 17th mast number is 239, then what number will be for 28th mast? 
a) 249 	 b) 248 	 c) 250 	 d) 251 

arr& @66Taaflujfti&j ajuirro0urraT 8 efwo L-O~ arrodT 6T6a)L-

8 

Tare weight of 8- wheeler, San Engg make tower car is 

a) 40.8 Tonne 	b) 50.5 Tonne 	c) 56.8 Tonne 	d) 80.9 Tonne 

99 8 6)fGOq L-6)Jq G"&6ZMdO W&CU) ~50~566)0 (lifting platform) 4—)Uq~b~b ............ A461F)LD1.111-1 0—)6iT6YT& 

8 *~r wi~k zw tt~ # cAuoiii f~4ftbi OR f~;v -- q~~ zFTw4)w em ti 
The system used for lifting platform in 8 wheeler tower wagon is .............. 

a) Pneumatic 	b) Manual lifting 	c) Electro Hydraulic 	d) Electro Pneumatic 

L&6&590# 	 ujh~ ,jodO (battery) V—GiUff @6066iffbi.4 (~PO)69 	66W (lugs) 9d(5CJ04&,&rrw&Lb 

^MIRC6U~b_MLb ^&rrW&Lb 0(5&& ............ UIJ-J6&U(R,6j,.$ C"diff@Lb 

" iTM W 5W AW aff-T*~ fft tr-F~r t f~4V — i# ~;F~ 7raT t I 

In order to avoid corrosion and oxidation on the battery lugs . ............... to be applied 

a) Petrolium Jelly 	b) Silicon Grease 	c) Graphite Grease 	d) Any one of these 

fa)~~@UJ a1lj&1UJQ)66)LDOL4 802d ALL-06MOTOILILO, 6T,6,66oun QwrrpaidT uLLLqujGb 

'9RJl,4 Tntll-1 zft 3ffMt 35~- 	A Pb~ MVTi 415-41f~d 91 ,3 N 
How many languages are enlisted in the eighth schedule of Indian constitution 

a) 22 	b) 18 	c)12 	d)24 

102- 5 ,j~(~OUA)&ALXIFIGb OFjCUrr,6 Cajqq (:,~bq&A QufbO(g)OLJ16& adinjoq u6mb a(5,airra 
&6mL-&@Lb? 
Pm w4w # wd)u qftw qm wi# qT ft-cTt vwm~T qmw vf~t vi~w ERr 7rt ti 
Thp himn-uinn award Pivpn fnr nar-inp Pr;;hnrih Py;im thrmiorh nriv;;tp Pffnrtr ir, 

a)Rs.500 	b)Rs.1600 	c)Rs.1800 	d)Rs.2400 

jD3. aiguil;b OwrrL@ 6DO86416k 1-114 &)L&1Drbrr@ wrrpGuLb 6T$,a5b u(aj~@Odb "(5ftgj? 
iIA311ql fAW4f t 3F-T~U (IfAIM-115 i~PW a~i # 3iTffr tl 
The state of TamiInadu is coming under which region as per official language rules 

a) Region A 	b) Region B 	c) Region C 	d) Region D 

"To approve" 6T667Q ^!`~AGU 6DOUX& Q&I`r6b&j#)&ff6bT _ $ 01 	66)5j 60 _Q rrl),6 , 6TN? 

3t&5ft 217 ~TZZ~ "To approve" t f~4v itt # 4:7T fetm 7raT ti 

What is the word in Hindi for English verb "To approve" 

a) swikarkarna 	b)Niyukthakarna 	c) Anumodithkarna 	d)upathisthithhona 

QUU.1q/6B6nLbUIj UGUO)&U.Ni) 6T$,Uj "~61Y)6136b fi)$,495 QLarrP&dr filig)&a) Gaidw&b? 
1 ii)rTrrrkA)iii(-)inrnA) -) cNArii~A) --i chirfmA)cmh 

~-,IM 4)t/ FMtF tt # 93flV ftU TJT # f~4-& 7Tt t 1 1) #tW 3TM 2) f6~r 3) 3ft3ft 	

Q 
The order of languages used in the name/notice board is 1)Regional language 2)Hindi 3)En~l 

i a I G~1~ b) 1, 2,3 	c)2,1,3 	d)2,3,1 	-- 	- 	eRTH a)1,3,2 

Divisional Electrical Engineer / Rolling Stock 
~~-600 042. 

Southern Railway, Velachery, aennai-600 01?. 



6T~,uj Qnjeff 	 -6)i6oubTafib G&~#)&6uLL(3dTGngj? )rrLL(3 Qwq@ 86-ugj a4LLL 

arr3-rfr -+F~ # ZFV * f4ttr 31M +i P~a Ept 

What is the foreign language included in the Eighth Schedule 

a) Arabic 	b)singhali 	c) Nepali 	d) Bhutanese 

GL-" 6T6&,q Q&fr6dML-1TL-11IU(3&fD5P 

fgT t-cm zhv JT~ aim ii~ I 

When is Hindi day celebrated? 

a) 14 th November 	b) 14 
th September 	c) 14 th August 

1o8. "lo" 6T66T!D 6T6&M#3&rr6ui W$0 6)jrr0Ao),-s agd? 

#gzff , lo, 2K f~4v f~t uzi~ q;w t i 

d)14 th December 

What is the hindi word for number '10' ? 

a. pandhrah 	b. dhas 	c.pachchees 

109. "OLIC" 6iT GD0ajrrA)&Lb admv 

"OLIC' EFT f~,k-dlftci Tq t 

What is the full form of "OLIC" 

Official Level Implementation Committee 

Official Language Induction Course 

Official Language Implementation Committee 

Office Level Imprest Cash 

d. pachaas 

110. MHA 6& ft6wm &-Ap:ujimg~" aLorTpA 5j66)_MUJITGb ff .)L-,4,5jfJU(3Lh g(!5 Qd~o G~64 

6Tgd? 

-JT TFT~;W 21`~ -*fftT 3fl# M# ~ 1,A 31 1 14 1 fbTM i4-UM f~l~ # WtWr * fet q#W 3T~ Zft UlTct I 

one of the Hindi examinations conducted by Dept.of official language under MHA is 

a)Prathmic 	b)Prabodh 	c)Madhyama 	d)Prave2h'ka 
AA. 

K 

 I 

HI KART GAI SELVAN 
TJf~ / 7EP71 TZTET 

Divisional Electrical Engineer / Rolling Sto~* 

southem Q, 

PM 



Question paper For the selection fojjpost of Tower Wagon Driver/OHE in Level-5 of VII PC Pay 

Matrix(Ex. Cadre Post) 

Date of exam : 11.11.22 	 Duration: 2 hours 	 Maximum marks :100 

instructions to the candidates 

Candidates should write their name, designation, office, roll number/staff number, 

cONLY in the space provided and not anywhere else in the answer books or 

additional sheets". 

If any answer book is found with name(s) / roll number(s) other than the space provided 

the answer book will not be evaluated and the candidature will be disqualified. 

There will be 110 questions including 10 questions on Official Language. However, 

candidates should answer only 100 questions. If more than 100 questions are answered, 

only the first 100 answers will be evaluated. 

Answering of questions on Official Language is NOT COMPULSORY. 

There will be negative marking for incorrect answers @1/3 mark for a wrong answer. 

The answers to be written only as A/B/C/D (ONLY IN CAPITAL LETTERS as given in the 

question paper) and not in lower case. If written in lower case, the answer will not be 

evaluated. 

Part headings given for each part shown in the Question paper should be written by the 

candidates while writing answers. 

In the answers, Corrections of any type like (i) cutting (ii) overwriting (iii) Erasing (iv) 

scoring off (v) modifying the answer (vi) writing the answer in text form, etc is NOT 

PERMITTED. 	Zero marks will be given for such answers. 

Candidates are not aflowed to keep mobile phones/Electronic gadgets or any other 

documents/papers in the examination hall. 

Candidates may take the Question paper with them after the exam is over. 

k) 	It may be noted that in the event of any doubt/discrepancy, the most apt option and the 

English version will prevail. 

I) 	The candidates appearing for the exam are requested to clarify their doubts about any 

questions/option, at the beginning of/ during the examination, so that the same may be 

then itself clarified/corrected/substituted, for the benefit of all. 



During charging of a battery, specific gravity of electrolyte 

A) IncreasesB) DecreasesC) Remains sameD) None of these 

The colour of plates after discharging of a battery is 

A) RedB) ChocolateC) GreyishD) Yellowish 

The Condition of the battery can be determined by 

A) VoltmeterB) High rate dischargerc) AmmeterD) Ohm meter 

Cells are connected in series in order to 

A) Increase the current ratingB) Increase the voltage rating 

C) Increase the life of the cellsD) None of these 

The device for smoothening out the power impulses from the engine is caUed 

A) ClutchB) DifferentialC) Torque converterD) Flywheel 

At the first sight ,the petrol engine is identified by 

A) Cylinder sizeB) Power outputC) Operating speedD) Spark plug 

Which oil is more viscous 

A) SAE 3013) SAE 40C) SAE 50D) SAE 80 

The level of electrolyte in a Lead acid battery should be 

A) 15 mm below the top of the platesB) 10mm below the top of the plates 

C) Exactly at the level of top of the platesD) 10-15mm above top of plates 

The fuel is injected into the cylinder in diesel engine when the piston is 

A) Exactly at T.D.0 after compression strokeB) Exactly at B.D.C.before compression stroke 

C) Approaching T.D.0 during compression strokeD) None of the above 
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- 	 10. The Tower wagon battery is continually charged by 

A) lnverterB) Charging AlternatorC) Master batteryD) None of these 

11. The maximum permissible speed of 8 wheeler tower wagon is 

A) 80kmphB) llOkmphC) 40kmphD) 75kmph 

-S 

Competency certificate of Tower car driver is 

A) TR-1B) TR-2C) TR-3D) TR-4 

The maximum permissible speed of 4 wheeler tower wagon is 

A) 40-60kmphB) 40-75kmphC) 75-85kmphD) None of these 

Total number of traction motors used on 8 wheeler DETC tower wagon is 

A) 8B) 4C) 2D) None of these 

Tower wagon is 

A) uni directional vehicleB) Bi-directional vehicleC) Static vehicleD) None of these 

Capacity of battery used in 4w,MK-111 (iMP) tower wagon is 

A) 24 V, 10AHB) 110 V,120AHC) 24 V, 80 AHD) None of these 

Hydraulic oil used in Allison transmission of Phooltas 4w,Tower wagon is 

A) SAE 30B) Servo Torque-bC) Servo-68D) SAE-90 

A-9 valve is related to 

A) Brake controtB) Diesel controlC) Oil controlD) All the above 
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19. Model of cummins engine used in 8 wheeler DHTC ,BEML tower wagon is 

A) KTA-20RB) NTA 855RC) KTA-19RD) N743L 

20. Minimum engine lubricating oil pressure below which engine shuts off is 

A) 6 kg/sq.cmB) 1 kg/sq.cmC) 3 Kg/sq.cmD) None of these 

21. Hydraulic transmission assembly used in MK-lIl 4w,towercar is 

A) KTC 100-2013) Allision TransmissionC) Voith TransmissionD) None of these 

22. Lifting platform of 8 wheeler tower car is operated 

A) ElectricallyB) HydraulicallyC) PneumaticallyD) Electro-Hydraulically 

23. Power of Cummins type,NTA 855R model engine is 

A) 180 HPB) 220 HpC) 285 HPD) 320HP 

24. Condemnation limit of BEML Tower wagons wheel diameter is 

A) 1000mmB) 967mmC) 844mmD) 877mm 

25. Main reservoir safety valve setting in Tower wagon is 

A) 7 kg/sq.cmB) 8.5kg/sq.cmC) 6kg/sq.cmD) llkg/sq.cm  

26. 8 wheeler Tower wagon Radiator cooling fans are powered 

A) ElectricallyB) Mechanicallyc) HydraulicallyD) Pneumatically 

27. Function of a pressure cap in the radiator is to 

A) prevent coolant lossB) prevent entry of impurities into the cooling system 

C) Maintain the cooling system pressureD) All the above 

I 
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When the spring of the watch is wound,it will posses 

A) Kinetic energyB) Heat energyC) Flow energyD) Potential energy 

The purpose of Deadmans's handle in the driver cabin of the tower wagon is 

A)To ensure application of brakesB) To ensure the alertness of tower wagon driver 

4 	C) To ensure releasing of brakesD) None of the above. 

No of positions of A-9 brake valve handle are 

A) 3B) 5C) 1D) 4 

are used as lubricants in IC engines 

A) Animal OilB) Vegetable oilsC) Mineral 0usD) Graphites 

the requirement of voltage for cranking the engine in tower wagon is_ 

A)110V DCB) 110V ACC) 24V DCD) 24V AC 

The condition of outlet valve during suction stroke of the Diesel Cycle is 

A) Open conditionB) closed condition 

C) neither open or closed conditionD) None of the above 

Which type of motor is used in starting engine of Tower wagon? 

A) Steeper motorB) DC shunt motorC) DC series motorD) Any one of these 

Which capacity of battery is used for 4 wheeler, Mark-3 (iMP) tower wagon? 

A) 110 V,l8OAhB) 110 V,12OAhC) 24V,18OAhD) 24V, 120Ah 

The positive charge is denoted as -and negative charge is denoted as - 
A) Proton and electron respectivelyB) Electron and proton respectively 

C) Proton and Neutron respectivelyD) Electron and Neutron respectively 
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Which Competency certificate is issued to the driver of Tower car? 

A) SF-113) TR-11C) TR-4D) SF-5 

How many traction motors are used in 8 wheeler Tower wagon? 

A) 2B) 4C) 8D) No traction motor is available 

Dynamo of tower wagon is driven by? 

A) V beltB) gearC) ChainD) direct Coupling with engine 

In BEML make 8 wheeler DHTC tower wagon, Which model Cummins engine is fitted? 

A) KTA-19RB) NTA-855Rc) KTA-20RD) N-743L 

What is the periodicity of POH for tower wagons? 

A) 3 yearsB) 6 yearsC) 1 yearD) 8 years 

what is used for charging the battery in Tower Wagon? 

A) Regulatora) DC-DC converterC) AlternatorD) Though another battery 

What is the maximum permissible speed for 4 wheeler tower wagon? 

A) 60KMPHB) 75 KMPHC) 85 KMPHD) 96 KMPH 

The system used for raising pantograph in 8 wheeler tower wagon is 	? 

A) PneumaticB) Manual LiftingC) Electro HydraulicD) Electro Pneumatic 

What is the pressure of Brake Pipe in Pneumatic circuit of Tower wagon? 

A) 7.0 Kg/cm2B) 3.5 Kg/cm2C) 5 Kg/Cm2D) 6 Kg/Cm2 

What is the capacity of Cummins engine, NTA 855B model used in Tower wagon? 

A) 1000 HPB) 285HPC) 325HPD) 1500HP 
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What is the new wheel diameter of BEML make tower wagon? 

A) 952mm8) 877mniC) 915mmD) 820mm 

The functioning of A9 valve in tower wagon driver cabin is for? 

A) controlling of oil flowB) controlling of fuelC) controlling of brakeD) None of these 

Independent brake valve in tower wagon is denoted by? 

A) A9 valveB) non return valveC) SA9 valveD) Distributor valve 

What is the MR pressure in the Pneumatic Circuit of 4 wheeler Tower wagon? 

A) 7 Kg/cm2B) 5 Kg/cm2C) 8 Kg/cm2D) 6 Kg/cm2 

In electrical circuit, If resistance is decreased, what will be increased 

A) frequencyB) voltageC) currentD) none of the above 

If the 5th 
 Mast number is 227, 17th mast number is 239, then what will be the number of 

mast ? 

A) 24913) 248C) 250D) 251 

Tare weight of 8-Wheeler, San Engg make tower car is 

A) 40.8 TonneB) 50.5 TonneC) 56.8 TonneD) 80.9 Tonne 

In order to avoid corrision and oxidation on the battery lugs, ______ to be applied 

A) petroleum jellyB) Silicon GreaseC) Graphite GreaseD) Any one of these 

The Unit of inductance is_____ 
A) Henry 	B) Volt 	C) Ampere 	D) None of these 

The specific gravity of a good fully charged lead acid battery is 

A) 1170 	 B)1210 	C)1180 	D)1100 
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57. Traffic block is granted to the OHE supervisors for heavy maintenance work by 

Section controller in consultation with the TPC 

TPC in consultation with the section controller 

Section controller with the permission of TPC 

TPC with the permission of section controller 

58. During traffic block, which type vehicles movement is blocked in traffic block section? 

(A) Electric hauled (B) Diesel hauled (C) Steam hauled (D) All of the above 

59. During power block, which type vehicles movement is blocked in power block section 

(A) Electric hauled (B) Diesel hauled (C) Steam hauled (D) All of the above 

60. Which type of power block is required for daily routine maintenance work of OHE in 
secondary line ? 

(A) Pre-arranged power block (B) Local power block 

(C)Emergency power block (D) All of the above 

61. When the tower wagon engine is 'ON' position, driver may left the tower wagon for a 
period 

(A) Only 5 minutes (B) Only 10 minutes (C) Only 15 minutes (D) Cannot leave the tower wagon 

62. Choose the correct sequences of action which followed by TPC in case of section not holding 
25 kV power supply 

Isolate the healthy section on adjacent track on the same route length 

Identify the faulty section and isolate it after that. 

In case mid section driver is not in communication and section controller advised for 

switching on the OHE supply, TPC should on the OHE supply 5 minutes after the OHE 
tripping. 

Energize healthy section on the advice of section controller 

Advice section controller about isolation of faulty & healthy section 

(A)2- 1-5-4- 3(B)1- 2-3-4-5(C)3- 5-4-1-2(0)2-1-4-5-3 

63. When more than one tower wagons are working in the same block section, which 

instructions should be followed 

T/W's should not move at speed more than 10 kmph & should be ready to stop. 

Both T/W's, when entering or clearing the block section, both T/W's should maintain a 

minimum distance of 120 meters to each other. 

After completion of the work the official in- charge of the 1/W, who entered last in the 

section shall certify at the clearing station about clearance of the section by the last T/W. 
All of the above. 

64. Tower wagon in-charge will be responsible to ensure 

T/W is fit condition & all tools, emergency store are available on the T/W 

Conversant with the operation of the T/W and its various equipments 

All safety precautions are taken during movement of T/W 
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(D)All of the above 

Permit To Work (PTW) is essential for working on 25 kV AC OHE or near OHE within 
(A)lm(B)2m(C)3m(D)4m 

Protection of cross over as per Station Working Rules (SWR), ensure 

(A) Longitudinal protection (B) Lateral protection 

(C) Longitudinal & Lateral protection both (D) none of the above 

67 Which point is related to "Earthing before commencement of work"? 

At least two earthing & the distance between two earthing should not be more than 1000 
M. 

Earthing cable should be renewed, if more than 20% strands are broken & the continuity of 

the cable between the top clamp and the bottom clamp should be checked fortnightly 

The earthing cable should be flexible & able to withstand short circuit current 
All of the above. 

68. Which rules are applicable for ladder working in OHE? 

Ropes used with ladders should be of cotton or jute and held by one person on the ground 

& ropes should be used to pass tools and materials. No one should stand directly below a 
work spot under a ladder 

More than one person shall not normally allowed on a ladder & in emergency condition, 
more than two person should not be allowed on ladder 

Ladder should never be allowed to fall or rest against contact wire and insulator 
All of the above 

69. GR & SR stands for 

(A) General Rules & Subsidiary Rules (B) General Rules & Safety Rules 

(C) Grand Rules & Subsidiary Rules (D) Grand Rules & Safety Rules 

70. Is backrng of rolling stock permitted in automatic section? 

A) Yes, Always permitted B) Not permitted 

C) Yes, Only on EmergencyD) Yes, only once per day 

71. what is the normal aspect of signal in automatic territory? 

A) ONB) OFFC) ON or OFFD) blank 

72. T-409 is issued for 

A) Caution orderB) Line blockC) Permitted to workD) Condemnation of materials 

73. An Automatic signal with 'A' marker plate shall be passed at ON during night after waiting 
for 	minutes 

A) one minuteB) 3 minutes C) 2 minutesD) no need to wait 
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The competency certificate issued for working in automatic section needs to be renewed in 
every 

A) 1 year onceB) 6 months onceC) 2 years once D) 3 years once 

In electrical Circuit, Blown fuse indicates______ 

A) over current B) over voltage C) high resistance D) all of these 

As per signal aspects of Indian railways, "yellow", "Double yellow" indicates: 

A) caution, Attention respectivelyB) Attention, caution respectively 

C) Caution, Proceed respectivelyo) Danger, proceed respectively 

Ladder trolley can be placed on track after getting permission from SM through the form 

A) T 1518 B)T 1815 C) TR11 D) TR12 

How to provide earth rod on OHE? 

A) fix bottom clamp to the OHE mast firstB) fix top clamp to the OHE first 

C) Either (A) or (B) D) none of the above 

minimum 	earth rods are required for working at cross over? 

A)2 B)3 C)4 D)1 

Validity of competency for the person authorized to place trolley is? 

A) Till retirement 	B) 2 Years 	C) 1 Year 	D) 3 Yerc 

what are the minimum number of earth rods required at a turn out? 

A) 2 	B)3 	C)1 	D)4 

Specific gravity of electrolyte will 	while charging the battery 

A) not change B) decrease C) increase D) none of these 
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83. Hydraulic oil used for lifting platform in the tower wagon is 

A) Servo line 100 B) servo 68 C) servo system 60 D) servo lube 90 

84. which one of the following is FALSE 

No one is permitted to work near Live OHE 

Steel tape shall be used for measurement of OHE 

Ensure earth rods are provided on OHE before starting the work 

All of the above 

85. The one among the following is not a IC engine 

A) Diesel Engine B) Steam engine 	C) Petrol engine 	D) oil engine 

86. which of these is a symptom of electric shock? 

A) Cough B) loss of consciousness C) sneezing D) fever 

87. Traction substations are located at a distance of 

A) 35 to 50 Kms B) 60 KMs C) 30 Kms D) Any distance 

88. which of these is closing the engine valves? 

A) Cylinder B) Spring C) Cam shaft D) Housing 

89. horizontal distance from nearest face of traction mast to the centre of track is 

A) Versine B) Implantation C) Suspension distance D) Encumbrance 

90.Fuel ignited in diesel engine is by? 

A) Spark plug B) External Electrical supply C) Battery D) heat of compressed air 

91.What is the normal height of contact wire at support point for regulated OHE: 

A). 5.30m 	B). 5.55m 	C). 5.85m 	D). 5.90m 

Page 11 of 37 



92.Certificate of competency for OHE inspection cars is: 

A)TRO1 	B)TRO2 	C)TRO3 	D)TRO4 

93.Mark II 4 wheeler TW is manufactured by which workshop? 

A) Lallaguda 	B) Kacharapara 	C) Jamalpur 	D) Matunga 

94.Which one of the check is done after 'Every 6000hours or two years whichever is earlier' 

for 8 Wheeler tower wagon? 

A) 'A' check 	B) 'B' check 	C) 'C' check 	D) 'D' check 

95.The terminal potential difference of a cell of e.m.f 2 V and internal resistance 0.1 ohm 

when supplying a current of 5A will be 

A) 1.5V 	 B) 2V 	C) 1.9V 	D) 2.5V 

96.Competency certificate no. TR-06 is for? 

A) For OHE lineman B) For OHE Supervisor C) For OHE inspection car D) For PSI supervisor 

97.Voltage from battery is.... 

A) AC 	B) DC 	C) both AC/DC 	D) None of the above 

98.The total weight of counter weight of ATD in conventional OHE is 

A)565kg 	B) 667Kg 	C) 1000Kg 	D) 1500Kg 

In the following abbreviations which is wrong. 

A)Two train Cantilever - TIC 	B) Rolled Steel Joist - RSJ 
C) Broad Flanged Beam - BFB 	D) All are correct 

In the private no. book, private no.'s are printed in the form of 

A) Two digits, serially 	B) Three digits, serially 

C) Two digits, not serially 	D) Three digits, not serially 

 

When Hindi day being celebrated? 
A) April 14 	B) Aug. 14 C) Nov. 14 D) Sept.14 
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- 	 102. 

- 

Qwrrrj? 

A)arrur fflB) ... 

tT 	 ~ft (i f 	(t -f 
Which of the following is the primary Official Language of Indian Union? 

A) Hindi in kharosthi script B) Hindi in Devanagari script 

C) Hindi in Brahmic scritpt D) Hindi in Persian script 

 

juL®jrrr6r 

How many Languages are included in the eighth schedule of Indian constitution? 
A) 20 B) 25 C) 22 D) 21 

DUG 	 U j9j)LUJU Fr : 

DLI 

OLIC may expand as: 

Official Languages in Indian Constitution. 

Official Language Institution Committee. 

Official Language Implementation Committee. 

Official Language Implementation Commission. 

p 	105. 

A) 'A' ll(B) 'B' U(C) 'C' 

Which the following region West Bengal state is situated? 

A) 'A' region B) 'B' region C) 'C' region D) None of above 

106. 

TIT 	t(cflu curr (3fTt 

Which of the following examinations being conducted by Hindi department? 
A Prabodh B) Praveen C) Pragya D) All above 
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L68T6)JQIL1J case 

)u46 JLb6)®ü1- 

cl-u-I 	d dl 	cb't ci 	cl-I I cl-I  

(N 	3Trrft (chl 	4-)Ich,-11 	ch)t (4)cIit)T 

Which of the following case should be in Tn-lingual form? 
A) Office Orders B) Office file headings 
C) Public board D) Leave form 

 

A)uB) C) Dw 
th6TJLb 

	

IT (chI 4 (chJ 	t3TF (q)-4 	(3iu-11 

Which of the following is a bi-lingual form? 

A) Office seal B) Office orders C) Letter heading D) All above 

109. 

A)L51Jrr)uJ - 	- 	 Bth1 - 

LUC)rrrLuLb - 	JULb - 

	

1r(attq - 3Id) - 	l'l (dca1 

Which of the following sequence of languages used in a tn-lingual form of letter? 

A) Regional - Hindi - English B) Hindi - English - Regional 

C) Regional - English - Hindi D) none of above 

 

QW 6UthGTJ 

When English implemented as additional official language of Indian union? 

A) 26.1.1950 B) 26.1.1965 C) 14.9.1949 D) 10.5.1963 

Questions in Hindi 
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